

ANOTA el resultado de cada operación

$$\text{a) } 3 - (2 + 6 - 4) - 9 + (-2 + 1 - 3) + 7 + (-3 + 1 - 4) = \boxed{}$$

$$\text{b) } 3 + 3 - 8 - 2(-5 + 8 - 1) + 8 + 4(+2 - 7 + 3) - 6 = \boxed{}$$

$$\text{c) } 4 - [2 - 8 + (1 - 5 + 3) + (-4 + 9 - 5)] - 3 - 2(-5 + 9 - 12 + 6) = \boxed{}$$

$$\text{d) } 7 - [12 + 8 - (-11 + 7) + (3 + 12 - 7)] + 8 - 3[(21 - 5) - 8(-4 + 9) + 11 - 9] = \boxed{}$$

$$\text{e) } -9 + 3 - [11 + 5 - 23 - 5(-8 + 4) + 7(-8 + 5)] - [6 - 12 + (-21 + 4) + 12 - 3(-6)] = \boxed{}$$